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[m/s] [m/s] [C] [C] [C] [%] [%] [%] [%] [hPa] | [hPa] [mm] [ mm] [mm]
0l 1.6] Jt@m| 6.7] JtféE|  1.9] 7.6 3.1 33.1] b52.7] 18.8| 46.4] 1004.3| 1019.9] 0.0] 0.0] 0.0 5 3 5
02 1.6| dJem|  7.7| mmw| 3.6 9.0 -0.1| 49.2| 71.3| 28.3| 47.1| 1005.7| 1021.2] 0.0 0.0 0.0 o I %
03 1.2| dew|  s.1) dede@| 3.9 10.3| -1.1] e2.1] 78.8| 40.0| 51.6| 1001.7| 1017.1] 0.0] 0.0| 0.0 o IR %
04 2.3\ Je#s| 11.5| dJews| 5.9 14.3| 0.1 44.4| 80.2| 15.0| 49.4| 997.9| 1013.2] 0.0l 0.0 0.0 B B B
05 2.5\ Je#s| 11.9| dews| 46| 9.9 o0.6| 34.3| 55.5| 16.9| 44.8] 1005.7| 1021.2] 0.0 0.0 0.0 5 B S
06 0.5| FrsvE| 4.1| mege|  1.6]  3.0| -0.3| 74.4| 95.2| 44.1| 53.5| 1006.6| 1022.3] 0.5 1.0 2.0 e = 2
07 1.5| dJew|  e.2| mdre|  3.3| 10.6| -1.9] es8.6| 95.5| 31.1| 58.0| 1004.6| 1020.2| 0.0] 0.0 0.0 5 I 05
08 o.8| mikms| 7.3| mw|  4.9] 109 0.9 e61.2| 90.2| 37.4| 58.9] 1006.6| 1022.1] 0.0 0.0 0.0 5 b5 5
09 1.0 dJew| 47| Jem|  e.4| 13.9] -0.9] 57.9] 90.2| 23.6| 58.6| 1002.0| 1017.3] 0.0] 0.0 0.0 5 b5 B
10 1.5| margsE|  8.7| mms®|  7.6| 12.5| 3.4 59.0| 76.6| 40.2| 58.6| 1002.7| 1018.0] 0.0 0.0 0.0 5 b5 S
11 1.3| miew|  7.7| wded|  6.2| 8.3 3.3| 8s.6| 97.5| 61.9| 67.6| 990.6| 1005.8] 1.0] 5.0| 19.0 2 il o
12 1.9| Jedews|  11.e|  Jems| 43| 10.0| -0.2| 2.4 87.4] 16.9| 63.0| 987.6| 1002.8] 0.0 0.0 0.0 5 b5 s
13 1.9 mm| 14.2] m@m|  2.8]  9.6| -0.7] s6.0] 75.8] 30.2| 60.8| 988.5|1003.9] 0.0 0.0 0.0 5 B =
14 3.4| Jtdews|  14.5 ikl 3.3 8.8 -2.1| 36.9| 68.8] 11.9] 53.6| 994.1]| 1009.5| 0.0 0.0 0.0 B I I
15 1.3 dJem| 6.9 mmw| 3.9 11.1| -1.6] 39.2] 63.0] 15.5| 49.2| 1002.8| 1018.3] 0.0] 0.0 0.0 5 b5 b5
16 1.2| dew| 70| m®| 4.9 11.9] 0.0 s6.7| 70.2| 38.8| 51.4| 1002.8| 1018.2] 0.0 0.0 0.0 5 b5 S
17 1.3| dedews|  7.3| wee|  5.2| 12,7 -0.4] 83.5| 79.1] 28.0| 52.0| 996.9| 1012.2] 0.0] 0.0 0.0 5 b5 b5
18 2.2| dede#s|  15.2| dedews| 42| 95| -1.2| 37.8| e6.1| 16.6| 47.7| 996.5| 1011.9] 0.0 0.0 0.0 5 b5 B
19 2.6| Jees| 11.e| drew|  3.3] 8.0  0.0| 45.5| 71.9| 27.5| 46.9| 1001.8] 1017.4] 0.0 0.0] 0.0 E a 2
20 3.6| Jededs|  23.0  dem|  3.3] 9.7 -—2.0| 48.1| 79.4| 22.2| 47.2| 997.8| 1013.2| 0.0l 0.0 0.0 55 S B
21 3.9 Jem| 15.6| dtew| 3.7 8.8| -0.2| 28.8| 40.8| 14.7| 41.6| 1004.5| 1020.0] 0.0 0.0] 0.0 55 S B
22 1.5| dJem| 7.1 ®®| 3.7 10.5| -1.0| 48.1| 76.3| 29.4| 43.4| 1009.3| 1024.9] 0.0 0.0 0.0 55 b5 B
23 0.6 mitr| 4.8 mm| 3.8] 8.2 -0.2| 7.5 91.1| 43.6| 50.6| 1005.3] 1020.9] 0.5| 0.5 1.5 2 b i
24 1.3| dem| 7.2 mEw| 5.7 11| 2.8 74.2] 93.3| 50.2| 57.7| 998.3| 1013.6] 0.5 0.5/ 0.5 o o 2
25 1.3 dem| 7.7 Ml 5.0 9.8 1.0 e3.6] 80.0] 42.2| 59.4| 1003.9| 1019.4] 0.0 0.0 0.0 B s o
2 1.2| dem| 70| mw|  e.2| 11.6| 2.4 77.1| 89.4| 57.5| 64.7| 1000.2| 1015.5] 0.0 0.0 0.0 5 b5 s
27 1.4 M| s.8| mE#| 6.9 13.4| 1.5| 61.0| 84.1| 37.7| 63.6]1000.1] 1015.4] 0.0 0.0 0.0 e F 2
28 1.3| dedew| 87| m#| 6.3 10.8| 2.5 s6.6| 76.1| 39.4| 61.4| 999.0| 1014.3] 0.0 0.0 0.0 B o E
29 1.3|  deew| 9.2 dem| 5.9 110 16| 51.5| 75.2| 34.4| 58.3| 99.3| 1011.6] 0.0] 0.0 0.0 e B I
30 1.1| mes| 70| dem| 47| 8.9l 1.1| 7.4 70.2| 41.3| 58.0| 996.7| 1012.0] 0.0 0.0 0.0 B bE s
31 2.6| Jem| 11.9| dres| 5.6 10.5| 2.2 36.4| 57.2| 22.4] 51.5| 998.9| 1014.2] 0.0 0.0 0.0 B I e
YBE] 1.7] JtE 7.6 54.2 54.1] 1000.3] 1015.7
BafE| 115 Pl 230 dre 14.3 97.5 67.6| 1011.3| 1027.1 1.0| 5.0/ 19.0
®EE | 01/20 01/20 01/04 01/11 o1/11] o1/22| o1/22| o1/11| o1/11| o1/11
13:35 13:30 14:05 13:45 24:00| 09:06| 09:07| 11:20] 11:50
RAEfE -3.1 11.9| 41.6| 982.1| 997.1
ol 01/01 01/14| 01/21| o01/11| o1/11
05:39 14:37] 24:00| 17:17| 17:17
BEfE 23.0
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